The bucket of liquid

Faber, 2.5

Liquid mirror telescope:
= https://www.youtube.com/watch?v=Q5Cr9P-
Q88Y

Electronic
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How liquid-mirror telescopes work
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mirror surface
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A liquid-mirror telescope uses a thin layer of
mercury within a rotating dish to form a reflec-
tive surface to collect light and focus it. As the
platform rotates, the combination of gravity
and centrifugal force sculpts the liquid mercury
into an extremely smooth parabolic surface.
The telescope scans a wide swatch of the sky
directly overhead. asrenomy: Roen ety
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In the steady state, the velocity profile becomes
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Why Euler? The velocity field above leads to zero off-diagonal components of the stress tensor (check). Thus, the viscous
effects are not relevant and we can use the ideal fluid approximation.
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Euler’s equation
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